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Zupglh nuunigps

unphnipy Eup mwjhu wnwewunpuputipp junwpl) pun htippuljuinipui:
Nupwnhp upnugk p jnipupwisnip wnwewnpuip: Gpk sh hwennynud nplik wnwewnpuiph

widhowytu  wwunwupwut), dwdwbwlp pbuwbnt tywunwlnd Jupnn Gp npub

winpununiw] wykh niy:
PEun-gppnylh kokph nunnupl dwukpp Juwpnng kp oqunugnpdly uliugpnipyub

hunfwuip:



Puywh u k Ynsynud snp pinphsny wunnpuunws pdnpp: (7 whunjnp)

1) thjupnit
2) wupq
3) hwdbnniu

4) ppYtgpws

Sunjuph dubnhphg nmuwuldwi hunfup oquuuqnpsnid k' (7 wpunjnp)

1) ubgph Eplup dfwtip
2) Yquudpup

3) wqnph Ynnph dhwbp
4) Ypspwihup

Spywd fruginbph wkuuljitbphg 0 pp sk poyunpdnd oguugnpsdt) npnduws
wwwnpwunbint hwdwp: (7 dhun/np)
1) hubudnpkunt
2) Jununt
3) tnliunt
4) puybkunt

bty bquiulny £ junhwipupp hpuwljuwtuginid nunkunbtph junnwiunpnonidp:
(1 Jpur/ap)
1) ppYuwyunipjub swthdwh
2) jupnpunnp
3) hnphppunjuljut
4) opguunjtuywnhl

Qbpuuht Upwldwh n'p byl E Yhpungmd dpbppubpp popnp Yagdkphg
hujwuwpwsuth Yinbwwwnbine hwdwp: (7 dhunj/np)

1) wnmwuwywlnudnyg
2) awonuuny

3) umi-yhpny
4) phunudny



Qtpuuyht Upwldwi hpfulwh Abh n’p byutrarlh £ fhpungnd dhugh oks
Junpny dubp yuwnpwunbint hwdwp: (7 dha/np)

1) pwidpwjuwpdwi /qudbkiny/

2) pphqbpuynpdui

3) hwpdwil hhdtwlju

4) $pp

Lwith” dh mith obpuught dpwlynudp: (7 punjnp)
1) mwulynp
2) tpbkp

3) Lplnt
4) wwutthhuqg

Fhajuspwdwotip yunpuwuwnbjnt hwdwp oquugnpéynn pmdhtiught pugut
wbwp Ehuh (7 dpunnp)

1) twpwybu Supyuyunyus b yput yupuhdwn guugus

2) dwpuh htkwn dhwuht juy nupwugdus

3) sdwlignunn wnnuuinhg

4) snigniuhg (pniohg)

‘Lojwdubkphg n pi Euindwnughb pubgwpbnbi:
1) nyipyp
2) ghwnbwjutdnpp

3) Jubwy ynubnp
4) ququpp

bugh’ Ukg E hpuljubugymu ynghhaugnuip:

1) onglh /qninpyutad/ jupuwgh
2) wjunljuyh

3) uks Jupuwygh

4) pnuph



B £ ynsynud uygh obpuughn Wpwlynuidp, nph hurdup Yhpumynid kb oph htigmyy b
ququhtt yh&wiljubpp: (7 dfpunfop)

1) phnud
2) hwdwlgnid

3) wnuwyuwlnid
4) huwpnid

ﬂnp JEpuypunbtuwljutph hdpht B yunjuwiunid wnuunbkpp:
1) pungp
2) wup
3) hhdtuwlut
4) uwnp

Pusuyk u b puuwljupgoud dubpp wujuph dubnhph dwuiunnidhg htnn:
(1 dpurynp)
1) Swpuwuyht b Swpyuqbpdyud
2) L IIIII yupgkp

3) Unow, muthwly b opwith
4) pwg b Uniq gnyuh

B gl £ hwinhuwbmy gbpuim pyut thnjuwnphs gbpuundywlynng Gl
nwpwdnipjul uwppuynpdw uky: (7 dhun/np)

1) 2hugws onp

2) wnwpugus Supyp

3) wuwp nkup

4) ohljugws wénihutibpp

Puywh u ki jupmu nuwyuwldwi hudwp tujeunbujws dubpp: (7 dpujop)
1) djwbuwght hintugwspubtphtt ninnuhwjug
2) Epjuywhh

3) 2tmulh
4) hunpwtwpnwdl jud nipnuulnit



Uwniplikpp, pun dunnigdwh gbpdwunhgwih, nuuwupgqynud G (7 dhwnp)
1) uwnp b qn
2) gn] b wunkgywsd
3) wuwp b uwnp
4) tndwl b uwunp

Zpltuwh nunbunh hbn dunmgymud ki hbnlyw) jwdupaibpp (7 dpayap)
1) puwlbwnwght
2) dhwyjt vnwp

3) wupq jud pupn
4) hbown jnipwugynn

Nppw 't k£ 1 gpuud &wipugh joipugmufhg unwmgnn Fubpglnhly wipdbpp:
(1 dpunjnp)

1) 4,14/4uy
2) 6,1 /juy
3) 10,7 §/juy
4) 9,3 4/ljuy

N pb Eudbbwwuyni Jpowdhip: (7 dpunjnp)
1) E
2) C
3) D
4 A

Npb b hhdiwljwi tnup mnkunh dunmgdwh shpdwunh&wip: (7 dpunjop)

1) 60-65
2) 85-90
3) 51-56
4) 32-45



& pp bt wljughnud wyp $ph Enwibunyg weygwlgng upnndht: (7 dpayap)

1) obpdwdpwlnidp wjwpunbkinig htwnn

2) dhtsl obpdwdowlynidp uljubkyp

3) obpUdwdrwlnidp wjwpunkinig 5 pnyk wnwy
4) obpdwdrwljdwl pupugpnid

N°pl E oph bl gbpuwunh&wip uinhlh uywb 760U guodwh plupnud:
(1 dfurjap)

1) 100
2) 97
3) 105
4) 80

N0°p ot E hwdwpdmd ghtanhly: (7 dpunnp)

1) wpunwunpnipjut yuwhhg dhsh 13 op
2) wpununpnipjub yuwhhg dhtsh 7 op
3) wpununpnipjub ywhhg dhtsh 15 op
4) wpununpnipjut yuwhhg dhsh 9 op

Pusuyk u E withhpwdbow k awply opquinuljwi pentikp wpupniiwlnn Juib
pwbowntntubpn: (7 Jpw/np)

1) opuyhl punuhpnud

2) pny) knh wuydwbubpnid

3) owwn pwtwljh nidght knwugnn wnuenpnid
4) wnwig tnh

Opput whwp  (hith wyyniph puquuht et npgoctp: (7 dpasgnp)

1) 15.3%
2) 11.1%
3) 12.5%
4) 14.5%



Otpuuyht Upwlwi n’p byuinalh E jhpumdma inghlp Yhnlwqbpsknt hudup:
(1 dpunp)

1) pwbdpwpwodwb (pudkiny)
2) wnuyuwldwt hhdbwlut

3) bLngpuwil

4) uwngdut

0'pb E Swpwyuyminn Jhnwdhbp: (7 dpurjnp)

1) K
2) C

3) B12
4) PP

N°pl k gbpuiught dpwldwh Ynuphtugyws tywbwlyp: (7 dpuargnp)

1) gpuyht puntihpp
2) onghkpuwpnudp
3) pwbdpwjuwonidp
4) Lupuubnnudp

Bty wn whnp k oqunugnpéty anhwpupuljwh tuuwwnwyny: (7 dpaninp)
1) shubiglud
2) hwdbddws
3) Uhwniphwnwght
4) sjnnugdud

Funhwpupp hiswh u yhwnp Eyunnpuunh nunkunp hwbnpught uibigh
dintwnpynipynimd: (7 dhun/np)
1) wbkpjuninghwljwt pupwnhtt hwdwywnwupiw
2) hhonnnipjudp
3) ujwpht hwdwywnwuhiut
4) Yuynipyughuyhtt hwdwywnwuhiuh



Spqwistikphg 3-p wwwpwwwnnuyhl pubguptnkutbp b Lok gubg
hwdwpubpp: (3 dhur/np)

wuwuwnbpbwl
nuhy
ghintiwjutidnp
ququp
putnun
Junudp
Quipundhy

NS U ke W=

Spwéhitphg 3-p umnUnhwqghikph pvwthphtt yunljuwing dyukp G
‘Lot npuiig hwdwpubpp: (3 Jpunp)

. odwdntl

1

2. hojawit
3. 1npn

4. pnihw
5. Jthwnw

6. pwnwth

7. Jupdpwhowyn

Spywstubtphg 3-p dubphg wunpwuwnynn puuljwt jhuwpwpphjuntitnh
wnbuwljubp B Uoky npuitig hwdwpubpn: 3 vhw/np)

hjnipwh b opuiqpljfwsd

pnt)| wnunpiwus

thnpp [junpubpny

Uinp b punwlyniuh

Ynown b thuthntly

pwdhuwghtt unputipny

UkS Junpubtipny

N o s W=



Spywsubtphg 3-p wunnuyht pmbgwpbntuubp Gu: Lok Hpug hwdwpukpp:
(3 dpurjnp)

. udpnily
- ponY

1
2
3. 1mhYy
4.
5
6
7

wwwnhunb

. ounquu
. puiqnil
. gntju unju

Znlyu| uwngpus Yhuwpupphljunntibphg 3-p Yupbih b ghpiudull) wowbg
huy kgubnt: Lok npung hwdwputpp: (3 Jhw/np)

NSV ke W=

Jupunguws b tnopydws Jupunndhip
uUkSd Junpny vhup

wdpnnowljuti dnilyp

Quitiy nphlu

wudpnnowljwut hwyp

Supuyubkndwsé pwbpwptnkuubpp
wdpnnowljwut nynidp

Spyws wjunmidutnhg 3-p &hown b Lok npung hwdwnpubpp: (3 vpw/np)

1.

Zujjujut pnhwingnid nunkunh wutnip pund L gpu yunpuwundw
nkjutininghwyhg:

Iunhwpwph hhdtwljwu gnpshputpt G hp 5 qquyupwutbpp:
Yhuwdwpphjunttpp qunpuunynid tu ninkunh unhwpuwpujut
Jtpotwjut dpwljuwt thnyynud:

Uwpgnt 1 opdu JEtuwgnpéniutnipjutt hwdwp wthpudbown utintunp
Ynsynid k Lwy:

Unguuttpp yquunjuinid tu vwnp Jhpujpuntuwlutph judpht:

. Guquph gnibwynpnn tkpjuiynipn Ynsynid £ npput jupdhp:

Zuujui junhwingh hhdbwljwt wpwdtwhwnlnipniutitphg E unjugh
unniuh Jhpwnnipniip:



Spywsubtphg 3-p huyljuwh hmgunbtuwlubp Eu: Lok ngpuing hwdwpukpp:
(3 dfpunp)

NS e W=

puwnni
pughun
wniph

2np
popnnhiyub
poup

il

Npnup b yunpuwunh mnbunh dunmgnidhg wewe hpwljwinugynn
hhdtwjut gnpénnnipjniuubpp: Lok npuug hwdwpubpp: 3 dhw/np)

1.

NSk W

hunhwpwpwlju yepottwjut Upwlnid
wupktwyhtt wypwuputph (Jugnid
wnuwhwdbunitipuyhtt ppuntunipnh ywwnpuwuwnnd
wupktwyhtt wypwuputph qunid

otinngh twpiwwwwnpuuwnnid

hunhwpwpwljuwb twptwui dpulynid

Jupuwh b muwyulh thuy gnid

Spywsutphg 3-p muwuljdw hwdwp oquugnpdynn thwl mupwsnipniiukp tu:
Lok npuitg hwdwinpubpp: (3 Jpunfnp)

N oV s W=

wunnyjudp

hwunttmgdwt okpduywhwpunp
Juthwunphsny dwsldws pudu
unynpuljub oinngp

Juthwuphsny dwsldws jupuw
hntop

onghnt]tlghnl gknngp
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Uwnipubpp nuuuupgynid Eu pun npgustitinhg 3-h: Lok nputg hundwpibpp:
(3 dpurjnp)

wuwwnpwuwndwb dih

dubph mbuwlukph

htniyh hhuiph

putigwptnbwht judpkph

dwnnmigdw obpdwunhgwith

gnijubkph

wnipubph pnqudnipjui

NSk W=
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